


B8. Oregon Senate Bill 1105 limits payday loan interest rates to 36% or less. Before that bill was 
passed, payday loans in Oregon often had interest rates of 120%. Nationally, payday loans can have 
interest rates as high as 7,000%. The average payday loan is a two-week advance on $350. How 
much interest would be owed with an annual simple interest rate of 36%? 120%? 7,000%?



B9. As a birthday present, Janice receives a $50 gift certificate to her favorite restaurant. She invites 
two friends to join her for dinner there. She expect great service and plans to pay a 15% tip. 
Restaurant sales tax where she lives is 10%. What is the most she can pay for the food if she wants 
the gift certificate to also cover everyone's tip and tax?
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B10. Bradley has heard that it is wise to spend no more than 25% of your income on your mortgage. 
He earns $39,600 per year. He wants a thirty-year home loan. Mortgage interest rates are at 5%. 
How large a loan can he afford? How much will he pay total over the thirty years? How much of that 
is interest? Where is one Lane County neighborhood that Zillow suggests is appropriate for Bradley?

http://www.zillow.com


B11. The historical return for the stock market is about 11%. If the bank decided not to do business 
with Bradley, but instead invested the loan amount in the stock market, how much would the bank 
have after thirty years of 11% annual compound interest each year? Why would a bank choose to 
offer a mortgage to Bradley considering that stock market gain is so much smaller? 

http://www.investopedia.com/walkthrough/corporate-finance/4/capital-markets/average-returns.aspx


B14. Cliff is Clara's husband. He stops smoking, and decides to devote the money he used to spend 
on cigarettes to retirement. He used to smoke 1 pack per day, at $5.70 per pack. How much money 
per year was Cliff spending on cigarettes? If he instead puts his "cigarette money" annually into a 
retirement account that earns 9% annual compound interest, how much will extra will he have for 
retirement after thirty years?

Final Amount = [ Principal × (1 + rate)(years + 1)    −    Principal × (1 + rate)] ÷ rate




